
>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������))�

�

N�� �
�((#((�ij�ZC�OE\OKOGCFS3�]OEMCJFC�MCEC���_KCa\CI
�
���� mZ� LC`KS3G� OZ� IJCFC� )�
� EKCG� �%�� DGDV� \QCGOJFOMC#�

Q3VOEKQDGCFO�\QDOZGD~CI$ZCEKH\FOM�NHXCF� S3�NDEKCGOKO�NDMCZ�
D�H\JCKO�\QO`DNC�OZ�EKCGC�����DGDV�IJCFC
�

	


��F@
BD<AG#D�
�GA	@d#D�:;@D;?D�
�JCF�%�
�

�lQ3EKCFCM�GCX3FSC��
{CFDa�\DI3KMC�\QOaS3F3�DGDVC�\QCGOJFOMC�\Q3EKCS3�NC�GCXO�

lQCGOJFOM�D�GQEKCaC�]OEMCJFO`�HQ3~CSC#�K3`FOIMOa�O�]HFMRODFCJFOa�
MCQCMK3QOEKOMCaC�NOS3JDGC�]OEMCJFO`�EOEK3aC#�GQEKCaC�E3QGOEOQCFSC�O�
Q3E3KOQCFSC� O� DZFCMCaC� NOS3JDGC� ]OEMCJFO`� EOEK3aC� ��WJHXY3F3�
FDGOF3�P3N3QCROS3�TOU�#�YQ
���$�(�O�'�$�����O�lQCGOJFOM�D�ECNQXCSH�

]DQaHJCQC� O� FCIOFH� OE\OKOGCFSC� NOS3JDGC� ]OEMCJFO`� EOEK3aC�
��WJHXY3F3�FDGOF3�P3N3QCROS3�TOU�#�YQ
�)�$�(#�%)$�(�O�'�$���
�

�JCF�%)
�
�WKH\CFS3�FC�EFCVH��

[GCS� lQCGOJFOM� EKH\C� FC� EFCVH� DEaDV� NCFC� DN� NCFC�
DYSCGJSOGCFSC� H� �WJHXY3FOa� FDGOFCaC� P3N3QCROS3� TOU�#� C�
\QOaS3FSHS3�E3�DN�(�
(�
�(��
�VDNOF3
�

TQDS�('2(�2�2)*&)$�(�
|HJC��(�(
�VDNOF3�

WCQCS3GD
jOFOEKQORC�

BmRrO�HQRQUmTQU#�E
�Q

�

�

�
�

� �



�����'(�2� �������)%�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������)'�

�

�
�

� �



�����'(�2� �������)*�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������)9�

�

�
�

� �



�����'(�2� �������)&�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������)��

�

�
�

� �



�����'(�2� �������%(�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������%��

�

�
�

� �



�����'(�2� �������%��  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������%)�

�

�
�

� �



�����'(�2� �������%%�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������%'�

�

�
�

� �



�����'(�2� �������%*�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������%9�

�

�
�

� �



�����'(�2� �������%&�  d?e�f�f��-�=�f��fgf18<=hf����� >����#��%
�9
��(�(
�

�

�
�

� �



>����#��%
�9
��(�(
�  d?e�f�f��-�=�f��fgf18<=hf����� �����'(�2� �������%��

�

�
�

� �




